4 DUUN

Service description

Duun Industrier as
7630 Asen, Norway 7630 Asen, Norway

www.duun.no www.duun.no

Duun Industrier as

Product:

VM420

Service description
No.:

4120-S028

Ver:

Upgrading splitting mechanism. s.No. 09001-130010

Machines from s.No. 130011 have an upgraded mechanism. This upgrade can be performed for

older machines by replacing items marked yellow in enclosed list.

Pos. No

2
2
1
1
1
4
1
1
1
1
1
4
2
3
2
2
1
1
1
4
1
1
1
1
1
3
2
2
1
1
4
1
1
2
2
1
1
2
1

Item No.
2481610 Sekskantmutter M10 EIZn DIN 934
2531060 Underlagsskive M10 ElZn DIN 125
2912075 Trykkfjeer Dt2,0 Di18 L85 St
2422299 Sekskantskrue M10x30 EIZn 8.8 DIN 933
14120360 Sjaltearm
2531060 Underlagsskive M10 ElZn DIN 125
1411254 Bolt for sjaltestang
2483610 Lockingmutter M10 EIZn DIN 985
14120355 Ventilbetjener
14120090 Mekanismefeste
2481610 Sekskantmutter M10 EIZn DIN 934
2531060 Underlagsskive M10 EIZn DIN 125
2422303 Sekskantskrue M10x40 ElZn 8.8 DIN 931
2422299 Sekskantskrue M10x30 ElZn 8.8 DIN 933
2483610 Lockingmutter M10 EIZn DIN 985
2534060 Fjeserskive M10 ElZn DIN 127
14120351 Avstandshylse @10/21 L15/27
14120352 Avstandshylse @10/21 L18/27
14120091 Utlgserarm
2531060 Underlagsskive M10 ElZn DIN 125
2483610 Lockingmutter M10 EIZn DIN 985
2422321 Sekskantskrue M10x150 ElZn 8.8 DIN 931
2481610 Sekskantmutter M10 EIZn DIN 934
2913028 Strekkfjaer Dt2,0 Dy15 L70 St
14120369 Stillskrue
2531047 Underlagsskive M8 ElZn DIN 125
2483609 Lockingmutter M8 EIZn DIN 985
2422260 Sekskantskrue M8x65 ElZn 8.8 DIN 931
2955352 Retningswventil DCV 40/1
14120195 Slangeholder
2957766 Ansatsnippel GEK BSP 1/2" L12 ED
14120132 Sylinder
14120133 Stempel
2482615 Sekskantmutter lav M20x1,5 ElZn DIN 936
2233008 O-ring 8,00x2,00 NBR 70
2422217 Sekskantskrue M6x50 ElZn 8.8 DIN 931
2483608 Lockingmutter M6 ElZn DIN 985
2913028 Strekkfjeer Dt2,0 Dy15 L70 St
2957754 Ansatsnippel GEK BSP 1/4" L10 ED

Side 1 av?2




;

®
-@

M ® ® g
w -G -0 P
©

et
¥

ES
i
)] t m

1

|

Side 2 av 2



	Upgrading splitting mechanism. S.No. 09001-130010

